@ @ (& @ (& Moltiplica i decimali per potenze di dieci
*

Nome: Data: Punteggio:
9,811 x 10000 = 8,693 x 10 =
5,208 x 1000000 = 10,198 x 10 =
6, 024 x 10000 = 7,06 x 1000000 =
10, 634 x 10000 = 10, 773 x 100000 =
5,575 x 100000 = 10, 676 x 10000 =
6, 141 x 1000000 = 1,55 %1000 =
5,392 x 1000 = 7,855 x 10000 =
5,858 x 10 = 8,356 x 1000 =
4,974 x 1000 = 1,94 x 10000 =
1,54 x 10000 = 2,901 x 1000 =
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@ @ (% @ @ Moltiplica i decimali per potenze di dieci
*

Nome: Data: Punteggio:
9,811 x 10000 = 98110 8,693 x 10 = 86.93
5,208 x 1000000 = 5208000 10,198 x 10 =101.98
6, 024 x 10000 = 60240 7,06 x 1000000 = 7060000
10, 634 x 10000 = 106340 10, 773 x 100000 = 1077300
5,575 x 100000 = 557500 10, 676 x 10000 = 106760
6, 141 x 1000000 = 6141000 1,55 x 1000 = 1550
5,392 x 1000 = 5392 7,855 x 10000 = 78550
5,858 x 10 = 58.58 8,356 x 1000 = 8356
4,974 x 1000 = 4974 1,94 x 10000 = 19400
1,54 x 10000 = 15400 2,901 x 1000 = 2901
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